
§·¤æ§ü / Unit-I

1. Üð¹æ¢·¤Ù ¥ßÏæÚU‡ææ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U?

çßçÖ‹Ù Üð¹æ¢·¤Ù ¥ßÏæÚU‡ææ ·¤æð â×Ûææ§°Ð

What do you mean by Accounting concept ?
Explain various Accounting concepts.

¥Íßæ / OR

KJ-1189
B.Com. (Part - I)

Term End Examination, 2020

Group - A

Paper - I

Financial Accounting

Time : Three Hours] [Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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âéÚðU‹¼ýÙæÍ ·ð¤ Âæâ v ×æ¿ü, w®v~ ·¤æð ãUSÌSÍ

ÚUæð·¤Ç¸U G z,{®® ÌÍæ Õñ´·¤ ×ð´ ÚUæð·¤Ç¸U G y},®®®

ÍæÐ §â ×æãU ×ð´ ©Uâ·ð¤ Ù»Î ÜðÙ-ÎðÙ

çÙ`ÙçÜç¹Ì ãéU° Ñ

w®v~

×æ¿ü w Ù»Î ×æÜ Õð¿æ G |,z®®Ð

×æ¿ü z ÚU×ðàæ âð (G },wz® ·ð¤ «¤‡æ ·ð¤ Âê‡æü

Öé»ÌæÙ ×ð´) ¿ñ·¤ ÂýæŒÌ ãéU¥æ çÁâð Õñ´·¤

×ð´ ÖðÁ çÎØæ },®®®Ð

×æ¿ü } çß™ææÂÙ ·¤è ¥ÎæØ»è ·ð¤ çÜ° ¿ñ·¤

ÁæÚUè ç·¤Øæ G w,®®®Ð

×æ¿ü v® ×æðãUÙ ·ð¤ Âÿæ ×ð´ ¿ñ·¤ ÁæÚUè ç·¤Øæ

G ~,®®®Ð

Õ^ïUæ ÂýæŒÌ ç·¤Øæ G x®®Ð

×æ¿ü vw âéÚðU‹¼ýÙæÍ Ùð ƒæÚðUÜê ¹¿ü ·ð¤ çÜ° ÚUæð·¤Ç¸U

ÚUæçàæ Üè G x,®®®Ð

×æ¿ü vy ÙßèÙ âð ¿ñ·¤ (ÏÙæÎðàæ) ÂýæŒÌ ãéU¥æ

çÁâð Õñ´·¤ ÖðÁæ G z,~®®Ð

Õ^ïUæ çÎØæ G v®®Ð
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( 3 )

×æ¿ü v| ·¤æØæüÜØ ×ð´ ÂýØæð» ãðUÌé Õñ´·¤ âð L¤ÂØæ

çÙ·¤æÜæ G },®®®Ð

×æ¿ü v} ÂéÚUæÙè ×àæèÙ Õð¿è ¥æñÚU Öé»ÌæÙ ×ð´ ¿ñ·¤

ÂýæŒÌ ãéU¥æ çÁâð Õñ´·¤ ×ð´ Á×æ ·¤ÚU

çÎØæ G xy,®®®Ð

×æ¿ü w® Ù»Î ×æÜ ¹ÚUèÎæ G vz,®®®Ð

×æ¿ü ww Õñ´·¤ Ùð ÙßèÙ ·¤æ ¿ñ·¤ ¥ÙæÎëÌ ãUæðÙð

·ð¤ ·¤æÚU‡æ ÜæñÅUæ çÎØæÐ

×æ¿ü wz Ù»Î ×æÜ Õð¿æ G vw,®®®Ð

×æ¿ü w{ Ù§ü ×àæèÙÚUè ¹ÚUèÎè ¥æñÚU ¿ñ·¤ ÁæÚUè

ç·¤Øæ G ~®,®®®Ð

×àæèÙÚUè ·¤æ â¢SÍæÂÙ ÃØØ Ù»Î ¥Îæ

ç·¤Øæ G x,®®®Ð

×æ¿ü w} Õñ´·¤ ×ð´ ÚUæð·¤Ç¸U ÚUæçàæ Á×æ ·¤è G },®®®Ð

×æ¿ü xv ·¤æØæüÜØ ÃØØ ¿ñ·¤ mæÚUæ ¥Îæ ç·¤Øæ

G y,®®®Ð

×æ¿ü xv Âæâ Õé·¤ ·ð¤ ¥ÙéâæÚU Õñ´·¤ ÂýÖæÚU G vz®Ð

©UÂØéü@Ì ÜðÙ-ÎðÙæð´ âð ÌèÙ ¹æÌð ßæÜè ÚUæð·¤Ç¸U

ÂéSÌ·¤ ÕÙæ§°Ð µØæñÚUæ ÎðÙæ ¥æßàØ·¤ ÙãUè´ ãñUÐ
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( 4 )

Surendranath had on 1st March, 2019, cash

in hand G 5,600 and cash at bank G 48,000.

The cash transactions for the month were

as follows :

2019

March 2 Sold Goods for cash G 7,500.

March 5 Received cheque from Ramesh

(in full settlement of his debt

of G 8,250) and send into bank

G 8,000.

March 8 Paid for Advertising by cheque

G 2,000.

March 10 Issued cheque in favour of

Mohan G 9,000.

Discount received G 300.

March 12 Drawn cash for domestic use by

Surendranath G 3,000.

March 14 Received cheque from Navin

and sent into Bank G 5,900.

Discount allowed G 100.

March 17 Withdrew cash from bank for

office use G 8,000.
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March 18 Sold old machinery and received

cheque for payment which is

sent to bank the same day

G 34,000.

March 20 Purchased goods for cash

G 15,000.

March 22 Bank returned cheque of Navin

dishonoured.

March 25 Sold goods for cash G 12,000.

March 26 New machinery purchased and

cheque issued G 90,000.

Paid installation expenses for

machinery in cash G 3,000.

March 28 Deposited cash into Bank

G 8,000.

March 31 Paid establishment charges by

cheque G 4,000.

March 31 Bank charges as per Pass Book

G 150.

Prepare triple column cash bok from the

above transactions. (Narrations not required)

( 5 )
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§·¤æ§ü / Unit-II

2. xv ×æ¿ü, w®v~ ·¤æð â×æŒÌ ãUæðÙð ßæÜð ßáü ·ð¤

çÜ° çÙ`Ù çßßÚU‡ææð ´ ·ð¤ ¥æÏæÚU ÂÚU ¥»ýßæÜ

×àæèÙÚUè SÅUæðâü ·¤æ ÃØæÂæÚU ¹æÌæ, ÜæÖ-ãUæçÙ ¹æÌæ

°ß¢ ©U@Ì çÌçÍ ·¤æ ç¿_ïUæ ÌñØæÚU ·¤èçÁ°Ð

â×æØæðÁÙ Ñ

(a) ¥ç‹Ì× S·¢¤Ï G vx,|z®Ð

(b) {' ßæçáü·¤ ·¤è ÎÚU âð «¤‡æ ÂÚU µØæÁ

Ü»æÙæ ãñUÐ

(c) Âê¡Áè ÂÚU z' ßæçáü·¤ ·¤è ÎÚU âð µØæÁ

Ü»æÙæ ãñUÐ

(d) OïUæâÑ ÖßÙ ÂÚU w.z', Ø‹˜æ ÂÚU z' ÌÍæ

È¤Ùèü¿ÚU ÂÚU v®'Ð

çß·ý¤Ø G }®,z®®; ÂýæÚUç`Ö·¤ S·¤‹Ï G },z®®; ·ý¤Ø

G yz,|z®; ßðÌÙ G {,y®®; ×ÁÎêÚUè G x,xz®; ÖßÙ

G y{,®®®; Ø‹˜æ G w®,®®®; È¤Ùèü¿ÚU (©UÂS·¤ÚU)

G w,zz®; ÖæÇ¸Uæ G w,y®®; ¥æ»Ì ßæãUÙ ÃØØ

G xz®; ·¤SÅU× ÇKêÅUè G w,|®®; ¥àææðŠØ «¤‡æ

G v,®®®; Âê¡Áè G z®,®®®; ÎðØ çßÂ˜æ G y,z®®;
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ÜðÙÎæÚU v~,z®®; ÎðÙÎæÚU G xw,®®®; ÂýæŒØ çßÂ˜æ

G x,z®®; Õè×æ G y,z®®; ¥ÂãUæÚU G wz®; âæ×æ‹Ø

ÃØØ G xz®; ·¤ÚU G v,yz®; çß·ý¤Ø ßæÂâè G w,x®®;

×ÚU`×Ì G |®®; «¤‡æ G wz,®®®; ·ý¤Ø ßæÂâè

G z®®Ð

From the following particulars prepare

Trading Account, Profit & Loss Account and

Balance Sheet of Agrawal Machinery Stores

on 31st March, 2019.

Adjustments :

(a) Closing Stock G 13,750.

(b) Interest on loan is to be charged @ 6%

p.a.

(c) Interest on capital is to be charged

@ 5% p.a.

(d) Depreciation : on Premises 2.5%, Plant

5% and Furniture 10%.

Sales G 80,500; Opening Stock G 8,500;

Purchases G 45,750; Salaries G 6,400; Wages

G 3,350; Premises G 46,000; Plant G 20,000;

( 7 )
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Furniture G 2,550; Frieght G 2,400; Carriage

Inwards G 350; Custom Duty G 2,700; Bad

Debts G 1,000; Capital G 50,000; Bills

Payable G 4,500; Creditors G 19,500; Debtors

G 32,000; Bills Receivable G 3,500, Insurance

G 4,500; Discount G 250; General Charges

G 350; Taxes G 1,450; Sales Returns G 2,300;

Repairs G 700; Loan G 25,000; Purchases

Returns G 500.

¥Íßæ / OR

¥àæéçhØæð´ ·ð¤ â¢àææðÏÙ ·¤æ ¥æàæØ çÜç¹°Ð

¥àæéçhØæð´ ·ð¤ Âý·¤æÚU ·¤æð â×Ûææ§°Ð

Write the meaning of rectification of errors.

Explain the types of errors.

§·¤æ§ü / Unit-III

3. v ¥ÂýñÜ, w®v| ·¤æð °·¤ âèç×Ì ·¤`ÂÙè Ùð

G x~,®®® ×ð´ °·¤ Ø‹˜æ ·ý¤Ø ç·¤Øæ ¥æñÚU G v,®®®

§â·¤è SÍæÂÙæ ÂÚU ¹¿ü ç·¤ØðÐ Ø‹˜æ ·¤æ ·¤æØüàæèÜ

ÁèßÙ v® ßáü ÌÍæ §â ¥ßçÏ ·ð¤ ¥‹Ì ×ð´
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§â·¤æ ¥ßàæðá ×êËØ G z,®®® ¥æ¡·¤æ »ØæÐ z'

ÂýçÌßáü ·¤è ÎêÚU âð µØæÁ ÂýÖæçÚUÌ ·¤ÚUÌð ãéU°

ßæçáü·¤ ÂhçÌ ·ð¤ ¥ÙéâæÚU ÂýÍ× Âæ¡¿ ßáæðZ ·¤æ

Ø‹˜æ ¹æÌæ ÕÙæ§° °ß¢ ÂýˆØð·¤ ßáü ÜæÖ-ãUæçÙ

ÂÚU ÂÇ¸UÙð ßæÜð ÖæÚU ·¤æð çÎ¹æ§°Ð

ßæçáü·¤è âæÚU‡æè ·ð¤ ¥ÙéâæÚU G v ·¤æð z' ßæçáü·¤

µØæÁ ÎÚU âð ¥ÂçÜç¹Ì ·¤ÚUÙð ·ð¤ çÜ° ßæçáü·¤

OïUæâ (¥ßÿæØ‡æ) ·¤è ÚUæçàæ G ®.vw~z®z ãUæð»èÐ

On 1st April, 2017, a Limited Company

purchased a Machine for G 39,000 and spent

G 1,000 on its erection. Its working life was

estimated 10 years, at the end of which its

residual value will be G 5,000, Charging 5%

interest per annum, prepare Machinery
Account for the first five years using
Annuity method and also show the amount
that will be charged to the Profit & Loss
Account every year.

According to Annuity table to write off

G 1 @ 5% p.a. the annual amount of

depreciation is G 0.129505.

¥Íßæ / OR

( 9 )
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Ò¥æØ-ÃØØ ¹æÌæÓ âð ¥æÂ ÒÂýæçŒÌ Öé»ÌæÙ ¹æÌæÓ

·ñ¤âð ÌñØæÚU ·¤Úð´U»ð? ÕÌæ§°Ð

State how would you prepare ‘Receipts and

Payments Account’ from ‘Income and

Expenditure Account’ ?

§·¤æ§ü / Unit-IV

4. v ¥ÂýñÜ, w®v} ·¤æð ÚUæØÂéÚU ·¤è ¥Ù×æðÜ

§ÙßðSÅU×ð‡ÅU ·¤`ÂÙè çÜ. Ùð ¿ð‹Ù§ü ·¤è ¥ÂÚUæçÁÌæ

¥æòÅUæð×æðÕæ§Ü ·¤`ÂÙè çÜ. âð °·¤ ×æðÅUÚU·¤æÚU

ç·¤ÚUæØæ ·ý¤Ø ÂhçÌ ·ð¤ ¥æÏæÚU ÂÚU ¹ÚUèÎèÐ

¥ÙéÕ‹Ï ·ð¤ â×Ø G ~{,®®® ÂýæÚUç`Ö·¤ Öé»ÌæÙ

·ð¤ M¤Â ×ð´ çÎØð »Øð °ß¢ àæðá ÚUæð·¤Ç¸U ×êËØ ÌèÙ

â×æÙ ßæçáü·¤ ç·¤SÌæð´ ×ð´ z' µØæÁ ·¤è ÚUæçàæ ·ð¤

âæÍ ÎðÙð ·¤è ÕæÌ ÌØ ãéU§üÐ µØæÁ âçãUÌ ¥ç‹Ì×

ç·¤SÌ G v,xy,y®® ·¤è ãéU§üÐ OïUæâ ãUÚUæâ×æÙ àæðá

ÂhçÌ ·ð¤ ¥ÙéâæÚU v®' ßæçáü·¤ ·¤è ÎÚU âð

Ü»æÙð ·¤æ çÙà¿Ø ç·¤Øæ »ØæÐ

¥Ù×æðÜ §ÙßðSÅU×ð´ÅU ·¤`ÂÙè çÜ. ·¤è ¹æÌæ ÕãUè

×ð´ ×æðÅUÚU ¹æÌæ °ß¢ ¥ÂÚUæçÁÌæ ¥æòÅUæð×æðÕæ§Ü çÜ.

·¤æ ¹æÌæ ¹æðçÜ°Ð

( 10 )
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On 1st April, 2018 Anmol Investment Co.

Raipur purchased a motor from Aprajita

Automobile Co. Ltd., Chennai on the Hire

Purchase system. At the time of agreement

a sum of G 96,000 was paid out of the cash

down price of the car and balance would

be payable in three equal anuual instalments

together with interest @ 5% per annum. The

amount of last instalment including interest

was G 1,34,400. Depreciation was to be

provided at 10% per annum on the reducing

balance method.

Prepare the Motorcar Account and Aprajita

Automobile Company Account in the books

of Anmol Investment Co. Ltd.

¥Íßæ / OR

ç·¤SÌ ·ý¤Ø (Öé»ÌæÙ) ÂhçÌ âð ¥æÂ @Øæ

â×ÛæÌð ãñ´U? §â·ð¤ »é‡æ °ß¢ Îæðáæð ´ ·¤æ ß‡æüÙ

·¤èçÁ°Ð

What do you understand by Instalment

purchase (payment) system ? Describe its

merits and demerits.

( 11 )
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§·¤æ§ü / Unit-V

5. ÖÚUÌ, çÎÜèÂ ÌÍæ ÁØ‹Ì °·¤ È¤×ü ·ð¤ âæÛæðÎæÚU

ãñ´U ¥æñÚU wÑwÑv ·ð¤ ¥ÙéÂæÌ ×ð´ ÜæÖ-ãUæçÙ ·¤æ

çßÖæÁÙ ·¤ÚUÌð ãñ´ UÐ

xv ×æ¿ü, w®v} ·¤æð ©UÙ·¤æ ç¿_ïUæ çÙ`ÙæÙéâæÚU

ãñU Ñ

ç¿_ïUæ

(xv ×æ¿ü, w®v} ·¤æð)

ÎæçØˆß ÚUæçàæ â`ÂçîæØæ¡ ÚUæçàæ

G G

ÜðÙÎæÚU w®,®®® ÚUæð·¤Ç¸U wz,®®®

â¢¿Ø ·¤æðá wz,®®® çßçßÏ ÎðÙÎæÚU w®,®®®

Âê¡Áè Ñ    S·¤‹Ï wz,®®®

ÖÚUÌ G z®,®®® ÅUæ§ÂÚUæ§ÅUÚU v®,®®®

çÎÜèÂ G w®,®®® â¢Ø‹˜æ yz,®®®

ÁØ‹Ì G v®,®®® }®,®®®

v,wz,®®® v,wz,®®®

( 12 )
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©U‹ãUæð´Ùð È¤×ü ·ð¤ çßƒæÅUÙ ·¤æ çÙ‡æüØ ç·¤ØæÐ

â`ÂçîæØæð´ ·¤è ßâêÜè âð çÙ`Ù ÚUæçàæØæ¡ ÂýæŒÌ ãéU§Z-

â¢Ø‹˜æ G yw,z®®, ÅUæ§ÂÚUæ§ÅUÚU |,z®®, S·¤‹Ï

G xz,®®® ÌÍæ çßçßÏ ÎðÙÎæÚU G v},z®®Ð

ÜðÙÎæÚUæð´ Ùð w' Õ ï̂Uæ çÎØæÐ ÖÚUÌ â×SÌ ßâêÜè

ÃØØæð´ ·¤æð ßãUÙ ·¤ÚUÙð ·¤æð ÌñØæÚU ãUæð »ØæÐ §â·ð¤

çÜ° ÖÚUÌ ·¤æð G {®® çÎ° »°Ð ßâêÜè ·ð¤

ßæSÌçß·¤ ÃØØ G ~z® ãéU°Ð °·¤ G w,z®® ·¤è

â`Âçîæ ¥çÜç¹Ì ãñU, ßãU çÎÜèÂ Ùð G w,®®® ×ð´

Üð ÜèÐ È¤×ü ·¤è ÂéSÌ·¤æð´ ·¤æð Õ‹Ï ·¤ÚUÙð ãðUÌé

¥æßàØ·¤ ¹æÌð ÕÙæ§°Ð

Bharat, Dilip and Jayant are partners in a

firm sharing Profit & Losses in the ratio of

2:2:1. Their Balance Sheet as on 31st

March, 2018 is as follows :

Balance Sheet

(As on 31st March, 2018)

Liabilities Amount Assets Amount

G G
Creditors 20,000 Cash 25,000

Reserve Fund 25000 Sundry  Debtors 20,000

( 13 )
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Liabilities Amount Assets Amount

G G
Capital : Stock 25,000

Bharat G50,000 Typewriters 10,000

Dilip G20,000 Plant 45,000

Jayant G10,000 80,000

1,25,000 1,25,000

They decided to dissolve the firm. The

following are the amount realised : Plant

G 42,500, Typewriter G 7,500, Stock G 35,000

and Sundry Debtors G 18,500.

Creditors are allowed a discount of 2%, and

Bharat agreed to bear all realisation

expenses. Bharat is paid G 600 of realisation.

Actual expenses for this amounted to G 950.

There is an unrecorded asset of G 2,500,

which is taken over by Dilip at G 2,000.

Prepare the necessary accounts to close the

books of the firm.

¥Íßæ / OR

( 14 )
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È¤×ü ·ð¤ °·¤è·¤ÚU‡æ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U?

ÂéÚUæÙè È¤×ü ·¤è ÂéSÌ·ð´¤ ç·¤â Âý·¤æÚU Õ‹Î ·¤è

ÁæÌè ãñ´ U?

What do you mean by amalgamation of

firms ? How the books of old firms are

closed ?

———

( 15 )
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